zinsano

INNOVATIVE POWER TOOLS

Chpat)
=

www.zinsano.com

Call Canter
0-2888-2777

USuUn dAudodunpuGisud NG
SING SANGUAN & SONS CO.,LTD.

130 1y 2 nuusnsin ruadlsuli rnews:Us:1Ay dondaaunsusinis 10130
130 Moo 2 Rotrang Kao Rd. Samrongtai, Phrapradaeng, Samutprakarn 10130
Tel: +66 2 888-2777 Fax: +66 2 888-2799 www.singsanguan.co.th

zinsano

MANUAL GUIDE

GUT-OFF MACHINE 14"

Aflansldaeu ndesdnlniwes 14 7



zinsano Afionsldny
INNOVATIVE POWER TOOLS

uni
Introduction

US¥mueveunszAarity fildAenlSnandamid waniandaduisnandasinguiniaefionsiisans
Wi gudsannsgu Zinsano idRAuaduneunsnan ldladnassiagauam Taudmnsumienindae
AuanAfilasgn annsldnuiiazaandedu Jasadufnin Usndanan uazszmdatanduwdesluneiilas
Adudaeald nandasi wiesiiote azfimsmuguanutasadelasansauiudy 2 $u Tasasiidgdnvaiuancds
msldnusdaasadunasdysnvalbugdnnaelssinniaingugningldanuldfnmnounsldeu

The company thank you for using this product. We strive to develop Power Tools products which
meet high quality standard of Zinsano as always. We always take good care about every procedure of
manufacturing, choose quality materials for making the products that contain high performance including
comfortable and safety to use, saving time and extra works at reasonable prices. The safety feature of our
products is realized by using double insulated. Moreover our product contain the symbol shown about safely

precautions and product guide and proper application symbols to customers read before use.



AnnanNIgUIA1g

Findaudetaudidnauing
Tuduns$ - g a1 08.00-18.00 w.
Tnsénil - 02-888-2777 sip fheusn3

Tnsans : 02-888-2799

Contact Service Center
Monday - Friday 08.00 am.- 06.00 pm.
Telephone : 02-888-2777 Ext. Service Center

Fax. : 02-888-2799

zinsano

INNOVATIVE POWER TOOLS

Roulumssudsziu
Fayamamaiia
AnuziANuYapaAY
3Bl
ANILNTIININ

emygtezlnandedaliues 14 U

ENGLISH

Terms of warranty
Specication

Safety instructions
Operation

Cleaning and Maintenance

Parts List For Cut-Off 14” Model CO14MH2

a9y

Table of contents

Aflamslde

12-14

9-10
11

12-14



Afionsldny

zinsano

INNOVATIVE POWER TOOLS

ﬂl o Q.
Waulnssudsziu
1.u5wnashisulssiuaumiigndvihmsaesnsormuadaalildanufuseuainusem
2. qunsalinemuitldsuduingaslisglufeulamsiuyszdu wu JangUnsaldundosiiFesimatin
Fnnseuasiafsumaszaznamsidou
3.usElisAnTeUsor BT sAuA AR nmMsldnuligndesmugfionisldounseldoudiu
awsunipniensidanuinlszan
4135mbisANTaURsANIEEMET AU RnNaTRMAES sANLUsTIIAUIdeTB e lF ey
sUswMlisUARTaUsan M ErTedumialymussunass nassgnmiibigndesmuannsgu
9FUA

603 lisDARTeUsADAMER D RUMTkITiNshgeshmategndas mumuuzdanngliantsldeu

fyanwal RNy

solllAndyanwalilddmivindasdiofalidhlarnumineveedydnvaliounmsrinnu

zinsano MANUAL GUIDE
INNOVATIVE POWER TOOLS

No.| Part name No.| Part name
53 Cable protector 71 Baseplate
54 Cable (4M 1.5MM2 HO7RN ) 72 Rubber holder
55 Cross recessed pan head screws M6X12 73 Allen key holder
56 Srap ring 6 74 Allen key
57 Spark cover 75 Spring washer 10
58 Hexagonal x screw M10 76 Angle plate
59 Flate washer 10 77 Movable Jaw
60 hinged lever 78 Quick release nut
61 torsional spring 79 FElastic cylindrical pin
62 torsional spring 80 Rod Support
63 Quter-Hexagon socket head cap screws M10X45 81 Hexagon socket head cap screws M8X25
64 Screw M10 82 Spring washer 8
65 torsional spring sleeve 83 Srap ring 16
66 Hexagon socket head cap screws M6X12 84 Open Pin
67 Pin 85 Flate washer 8
68 O ring 5X1.5 86 Pin
69 Pin sleeve 87 Rod assembly
70 Hexagonal x screw M6

14



zinsano Afianaldan
No.| Part name No.| Part name
1 Flange screw 27 Brake lever positioning sleeve
2 Small ange 28 Brake lever
3 Press plate 29 Armature
4 Abrasive Cutting blade 30 Creepage 1ing
5 Cross recessed pan head screws M5X25 31 NSK629DW bearing
6 Fixed Guard 32 bearing sleeve
7 Hexagonal screw with step M6 33 Bafe plate
8 Cross head screws with step M6 34 Cross recessed pan head screws ST5X80
9 Anti-Vibration Pillar 35 Spring washer (p5
10 Movable Guard protector pillar 36 Stator
11 Movable Guard 37 Plastic motor Housing
12 Paper insert 8 38 Carbon brusher holder
13 Hexagonal lock screw M6 39 Carbon brusher
14 Spindle 40 Carbon brusher cover
15 woodruff key 4X13 41 Cross recessed pan head screws Mb5X5b5
16 WTOOB6203RS bearing 42 Hexagon socket x screws MbX8
17 Front cover 43 Rear cover
18 Oring (P52.8X1.2 44 Cross recessed pan head screws ST4X14
19 Big Gear 45 Right handle
20 Srap ring 17 46 Cross recessed pan head screws ST4X7
21 WTOOB000RS bearing 47 Switch
22 Gear Box 48 Cable press plate
23 Rectangle ring (P35X1.5 49 Capacitor
24 NSK6202DU bearing 50 Left handle
25 Anti-dust washer 51 Cross recessed pan head screws ST4X16
26 Spring 52 Cross recessed pan head screws M5X30

13

zinsano Aflansldany
ToyaiBamAila
Model CO14MH2
Rated voltage 220V ~/50Hz
Rated input power 2400W
No-load speed 3900 r/min
Diameter size of cutting disc 355 mm. (14")
Max. cutting of round steel 130 mm.
Max. cutting of square steel 120 mm.
Max. cutting of rectangle steel 120 x 130 mm.
Max. cutting of angle steel 140x140 mm.
Net weight 17 Xg.

wineme  Hesnnmiinsidouasmsinunmeazdunluiidessiaidaseaiinsudsuadesli
foudelinsuaranth
AENDR

Tdmindamantugy , viomén , wannae , uviamandy

Auuzinounisldeu
1.e3fnmuazfun suglenslduiiuuuiniuniasedunsensn Nufioniszds dyanwal

asaeadeniounsideu
2.3t nsesedisinaulumsldanusgeashisue
3szTeliinldwdediouazaaafuliiudedin
4 mrvaliiuifinodsRndnfd wdesdle
s wsaulasgUnsaifiniuiesesusnmiioanafiossy snafinnnudsmeiuinioswazlildnnuasadde
6.m3lfusn fioslimsldiiumdmasnio
7. e lmngauiudssmauudassznm
8.flavannnuAtuuasineisnauanuLeustud d1in Wunusess fafudoyaiiszylugiiowdy

fonafinmswasuuladaeiibifaeudelinsuarmin



zinsano Afionsldny

MNOUNTIVEPOWERTO0LS
9 dayamemalinenanansnsiulunsaslszme
10 vouuzhiildgUnsalisdumiadiutszneumaniiniasie Zinsano vesnanuiiszylugied
msldaunsalisdunsodiutsznaudusnaiifldlesuonadu [aunsalisduniosutsznoumuiissyl
winifu
AuuzinAmulanane
fefimslfiedosdiatimaszienutanadsuazazdpsfiiRmuiitenaniassanaudesesgunsaiinias
fiofionaviliAnmasing, Inihdmeas wazafmaiifetuiudldould Weanuasadedugldnu Tsnsw
AflepdaziBoarouiaclfnuniaad
1. ivedeslluanuiifiazasn dasenisldou

2. manuatadlivhenniuildentunieny esnlfindesiluiuiilndtinglhln finy wievhiu

w

. uesadifieannifinuasddu

4. il wdeadunauu msfioBlufiufuasden Wuliiudewn

6. #ulfirdesntneguuse asldetegndos

6. Avldaunsalognegnaes

7. audeinlimnzay sdnandefimauuaziedossziy anaaziudunsals linsaow qefle dwiy
R e LIPS

8. muwiumuaznihinnaviuanudasasiy

9. Wuszuzvhawnzldiwdesdianasiy

10 hiundeaulunstgesnmiedasile

11, smadawieaduszes q diitudula q Adgeliudly egneszwalndiedosriouiiniasaziay
wnaziay a1aazinliszuaiannudsmeals

12. seidouazaunsaliniadldlioanvinannaing We-a wiswitendnidvardosaminlaglbilddla

13. 5 3Andaelsimsld S esnasmgamariauiig

14. ssaaeuidudugendeli sinlfiniesiniitudushandounninnslsauvssaunsaiduilalls
wuzthanunsone WAngTRwme L

16. WazueslnaWmnzauivanslden

17. Fuafloanutasaduilisnsumasneds

Y

zinsano

INNOVATIVE POWER TOOLS

CO14MH?2

TWwes 14 i1 qu

o
21|
Parts List For Cut-Off 14” Model CO14MH2

a A9

519153002 ln

9

12

MANUAL GUIDE



zinsano MANUAL GUIDE zinsano sl

INNOVATIVE POWER TOOLS INNOVATIVE POWER TOOLS

Service and Maintenance AslFeu

1. Always disconnect the tool before carrying out inspection or cleaning. Never use water or other 1. AsuBulfuaingn

liquids to clean the tool. Clean the tool by brushing it with a brush. ﬂmﬁaﬂmm sovusasuliiinuasasATas éﬁﬂiﬁ 400

2. The air-vent of the tool should be cleaned regularly by using wind blow to avoid the motor too s o o o~ o
pdpeiussuliin vuihauenszaziBunedas Self-blocking

hot due to air-vent blocked. - o pin
2. mstsznauniananiudn

3. Always check if the components of the tool are xed well. : . . .
Apumsmstszneurieasaiudn avsnmaseuliudla Spanner

4. The housing should be without trace of crack or damage.

FimsosadinaduazannUanuds Uszuaazagu3imn Picture 1
5. Always check if the cable is without damage

VDR3BS dansnnenoenladiodesnns Wiodes
6. Renew gear grease at every second carbon brush change.

) ) " . mM3nealudn susuwsnDaiaseullosiuuazaen
7. The brushes need to be checked after approximately 40 hours of operation. Minimum permissible

/("’—' Morable guard

\
B\

! | Flange

length 5 - 6 mm. shorter the brushes must be replaced. fansanlaaldtszuananation T lufrnenuds

8. For checking or replacing the carbon brushes, remove the brush holder cap by undoing the screw, wfinmdanniuaesmihulauuas ludasen dedes

put new brushes, let the tool run idle with the new brushes 10 minutes. madsnauluda duseuasaseiu fuduseudresiu Picture 2

(Uit 1, 307 2, 317 3) assaseuliuiladnduten

wiuud dmndulonbiuviy oradusweiviliine

s M 5 S o @ o Cuttin
manadule nqanidusswaieduiion Idlaen1sgu bla@
anugeasiioadionunuyulumsdald(gui 4 )

. Flange ————&»
3. NIANANYURA Small flange ———=

< o s . P Polt———3
aanglndonvaaring uazdhaudu analiyuiideens Picture 3

azdin (0-45) wasduanibiulu (UM 4 ) dlowduaing

qnAesEning 35-225 3. w38 70 - 260 . azlsi

anansavinsiaunuele

Hexagonal

4.n5uAlBusu bolt

sheet

oo <

NYUTDIUNIUDNUIRNN Lﬁaﬂmsﬁ'ﬁuﬁumu wazeng .
| Picture 4

HonfuvuiieliaadudunuainsandsuiilUfmumd

wamundsldagnesing donaBuny suiuusn fu

P i

fioduludhandhaunseiegaduBunuiieunu (Ui 5) Clamp sheet

= & P o Y TRNPVR VR T oY Screw
dloazuflaBuau dosiulaindengndusetiudy dbi Pt
BunuazbidpBadpneduBunusinufiuf uazaziia Trigger

Anudamesialusa

11 4



zinsano Afianaldan zinsano MANUAL GUIDE

INNOVATIVE POWER TOOLS INNOVATIVE POWER TOOLS

M3UINMsUaNsUN§eInNm 4. Fixing work piece

Turn the handle counter clockwise to lose the movable

1. apataneaniewnassreuiiazinnsnmadanderianuazena fuldivieveanaisindusg
vice jaw move the fast nut upward so that the handle

Clamp sheet

can be quickly pulled out or pushed forward. When 5;’5;”

anuazaneiadis AmsinaNtazaar3aeiialaeasitudseila

2. BaeTTUNgeIMATENAIaiianITazTnANsazanas s N alnansitan e e wasSauiy

= ) . pressing the work piece, rstly push forward the handle )
Tuflaeannenmelisnainsaszunzeanls Trigger
until the vice jaw reaches the work piece, then press

« e o - o ya w Picture 5
3. WS’DQLﬂﬁﬂBQLaNa‘] mmumwﬂmLﬂiawmawwmalu W]ﬂW‘]JT]ZJﬂ’J’mLﬁEJW]EJﬂ’JiLLﬁ)[“UIWL‘SEJUiE)EJ

the fast nut downwards and turn the handle clockwise

4. sp3ndlimsisesunnnialssuanuideme _ )
to X the work piece (Picture 5)

5. avardrngianes Naelasuanudsmeniel , , A
N When xing the work piece, make sure to press the fast nut downwards completely; if not,

. nepanduAdianedowapuudsenu . . )
6 the work piece cannot be fully clamped, and pop out cause damage to the cutting wheel. When the cutting

7. wssehudasdimInaseundsanidlluda 40 Falus Inefiszazvpsiudsseuiivousulfodi 5-6 uu

u : wheel is worn out greatly, put a nonammable hard cushion under the back of the work piece, thus it can
thiuniifazioahmawAsuussdll use the middle edge of the cutting wheel to cut the object efciently Only when cutting small object and
8. dusumInTRseUnTwauuLl sy b’i’aamﬁaﬁmLLUiﬁmuImamguaﬂ‘gaaﬂ Tdutsesuslnsinazans the object can be fully clamping may the cushion be used in this manner. Putting a cushion underneath
Daw3aadszana 10 Wi that is narrower than the object, the cutting wheel will be used more economically and efciently

When cutting long object, put two nonammable cushions under two ends of it, and make the object
to keep in level with the pan base, ensure the supporting plain of the two cushions an the supporting
plain of the base plate in a straight line

Press the switch trigger of the machine, it switches on; loose the trigger completely, the machine is
under switch off condition. The machine switch can be locked if needing to make the machine runs
continuously please press the locking button at the time of pressing the switch trigger completely, the

machine will be under working condition. If need to release the locking, press the switch trigger again .



zinsano

INNOVATIVE POWER TOOLS

Operation

1.Before operation the tool,

you must check the voltage of the power sources
and the frequency which has to correspond with
the voltage shown on the nameplate.

2.Assemble or disassemble the cutting wheel
Before assemble or disassemble the cutting wheel,
please make sure the machine is switched off or
unplugged in. Wrench put in the base-wrench, can

be removed when required. When disassemble the

cutting wheel, rstly pull up the movable safety guard
and press the self-locking pin to x the cutting wheel;
unscrew the hex bolt counterclockwise with wrench;

and then take down the ange and the cutting wheel.

When assemble the cutting wheel, the steps are

opposite to the above-said steps (Picture one, Picture

Two, Picture Three) Make sure to tighten the hex
bolts. If not fully tightened, it would lead to injuries.
Please use the supplied wrench to tighten the bolts.
When the cutting wheel is wearing out, it can also
be used economically and efciently by adjusting the
height of hexagonal bolts to control the cutting
angle (Picture 4).

3. Setting of cutting angle

Release the quick-lock device, Move the scale plate
to the intended cutting angle (0-45), and screw the
quick-lock device tightly (Picture 4). When the scale
plate is set between 35-225 mm or 70-260 mm, it

cannot perform diagonal cutting work.

MANUAL GUIDE

Self-blocki
pin " Small

f Spanner
Picture 1 .i

//— Morable guard

LI

. . | Flange

Picture 2

Cutting

Flange —— <=
Small flange ———=

Polt———14
Picture 3

.
Hexagonal

Ruler bolt

sheet
Picture 4

zinsano MANUAL GUIDE

INNOVATIVE POWER TOOLS

Terms of warranty

1. The Company will not responsible if the User removes or modies without the approval of company.

2. Standard accessories are not subject to warranty conditions, such as consumable materials or
material that must be replaced for a specied period of time.

3. The Company will not responsible for any damage caused by improper use of the manual or
excessive use of the machine.

4. The Company will not responsible for any damage caused by accident or negligence of the User.

5. The company will not responsible for any damage from power supply problem of User that are
not up to the standards of the product.

6. The company is not responsible for any damage that is not maintained properly or not follow the
instructions in the user manual.
Symbol

The symbols used for the tool to understand the meaning of the symbols before the operation.

Double insulation A Warning! Danger

Rated Power (Watt) /g Voltage (Volt)

Read instruction
manual carefully Cutting disc size

No-Load Speed

2 ® 0 O



zinsano MANUAL GUIDE

INNOVATIVE POWER TOOLS

Specication
Model CO14MH2
Rated voltage 220V ~/50Hz
Rated input power 2400W
No-load speed 3900 r/min
Diameter size of cutting disc 365 mm. (14")
Max. cutting of round steel 130 mm.
Max. cutting of square steel 120 mm.
Max. cutting of rectangle steel 120 x 130 mm.
Max. cutting of angle steel 140x140 mm.
Net weight 17 Kg.

Note: Due to we have a detailed research and development in ongoing is subject to change
without notice.
Properties
Used for cutting steel, steel pipe, square steel, steel rods
Instructions before use
1.Should study and follow the instruction manual attached to the machine, including safety
precautions before use.
2.Should maintenance tools ready to use regularly.
3.Do not allow children to use the tool and should be kept away from children.
4.Stop using as soon as you nd something wrong with the Tools.
5.Do not modify equipment that came with machine the addition of manual species. May cause
damage to the machine and not safety.
6.Continuous operation should not overload the machine.

7.Use the right tool for each job type.

8.Research and development of The Company SINGSANGUAN&SONS CO., LTD.is an ongoing task,

so specic information in this manual is subject to change without notice.

9.Technical specications may differ in each country.

10.Recommend the use of accessory or components’s Zinsano power tools as indicated in this
manual. Using of accessories or other components other than those specied may cause users to get

injured. Should the use of accessories or components as indicated
7

zinsano MANUAL GUIDE

INNOVATIVE POWER TOOLS

Safety instructions

When using this tool should be aware of safety and must be followed to avoid the risk of equipment

that may cause a re, short circuit and accidents that occur to users. For the safety of users, please

read the manual carefully before using the machine.

1. Keep the machine in a convenient place and easy to use.

2. Should Always place the machine away from damp or wet areas and do not use this machine in

areas near ammable materials, gas or oil.

3. Store idle power tools keep away of children and other person

4. If the machine is not used for a long time, should be keep out of reach of children
5. Do not use excessive force machine, should be used correctly.

6. Should put the equipment correctly.

7. Wear suitable clothes. Do not wear loose clothing and jewelry, may be cause harmful. Do not

wear gloves and a person with long hair should be wear a headband.

8. Use dust mask along with safety goggles.
9. Spaced while using the machine to be safe.
10. Use lubricating oil in tool maintenance.

11. Check the machine periodically if there are any parts that are damaged should be x. Do not

place the wrench near the machine before the machine is working, may be cause damaged wrench.

12. Beware hand and equipment away from the on-off switch to avoid accidental starting.

13. If you feel sleepy should not use the machine should be stopped immediately.

14. Check that the parts are damaged or not. Do not use the machine if parts are damaged or broken.
15. The use of other devices that are not recommended can cause accidents.

16. Change parts t for use.

17. Keep this safety manual for reference



